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NEW QUESTION 1
A user is running a MySQL RDS instance. The user will not use the DB for the next 3 months. How can the user save costs?

A. Pause the RDS actMties from CLI until it is required in the future

B. Stop the RDS instance

C. Create a snapshot of RDS to launch in the future and terminate the instance now
D. Change the instance size to micro

Answer: C

Explanation:

The RDS instances unlike the AWS EBS backed instances cannot be stopped or paused. The user needs to take the final snapshot, terminate the instance and
launch a new instance in the future from that snapshot

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSlinstances.html

NEW QUESTION 2
In DynamoDB, if you create a table and request 10 units of write capacity and 200 units of read capacity of provisioned throughput, how much would you be
charged in US East (Northern Virginia) Region?

A. $0.05 per hour
B. $0.10 per hour
C. $0.03 per hour
D. $0.15 per hour

Answer: A

Explanation:

To understand pricing in DynamoDB, consider the following example. If you create a table and request 10 units of write capacity and 200 units of read capacity of
provisioned throughput, you would be charged:

$0.01 + (4 x $0.01) = $0.05 per hour

Reference: http://aws.amazon.com/dynamodb/pricing/

NEW QUESTION 3

An orgAMzation has hosted an application on the EC2 instances. There will be multiple users connecting to the instance for setup and configuration of application.
The orgAMzation is planning to implement certain security best practices. Which of the below mentioned pointers will not help the orgAMzation achieve better
security arrangement?

A. Apply the latest patch of OS and always keep it updated.

B. Allow only IAM users to connect with the EC2 instances with their own secret access key.

C. Disable the password based login for all the user

D. All the users should use their own keys to connect with the instance securely.

E. Create a procedure to revoke the access rights of the indMdual user when they are not required to connect to EC2 instance anymore for the purpose of
application configuration.

Answer: B

Explanation:

Since AWS is a public cloud any application hosted on EC2 is prone to hacker attacks. It becomes extremely important for a user to setup a proper security
mechAMsm on the EC2 instances. A few of the security measures are listed below:

Always keep the OS updated with the latest patch

Always create separate users with in OS if they need to connect with the EC2 instances, create their keys and disable their password

Create a procedure using which the admin can revoke the access of the user when the business work on the EC2 instance is completed

Lock down unnecessary ports

Audit any proprietary applications that the user may be running on the EC2 instance

Provide temporary escalated prMleges, such as sudo for users who need to perform occasional prMleged tasks

The IAM is useful when users are required to work with AWS resources and actions, such as launching an instance. It is not useful to connect (RDP / SSH) with an
instance.

Reference: http://aws.amazon.com/articles/1233/

NEW QUESTION 4
Regarding Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, in the Protocol drop-down box, you should select .

A. Email
B. Message
C. SMTP
D. IMAP

Answer: A
Explanation:
In Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, select Email in the Protocol drop-down box. Enter an email address

you can use to receive the notification in the Endpoint field.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SubscribeTopic.html

NEW QUESTION 5
In Amazon EC2, which of the following is the type of monitoring data for Amazon EBS volumes that is available automatically in 5-minute periods at no charge?
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A. Primary
B. Basic
C. Initial
D. Detailed

Answer: B

Explanation:

Basic is the type of monitoring data (for Amazon EBS volumes) which is available automatically in 5-minute periods at no charge called.
Reference:

http://docs.amazonwebservices.com/AWSEC2/latest/UserGuide/monitoring-volume-status.html

NEW QUESTION 6
A user has launched an EC2 instance. However, due to some reason the instance was terminated. If the user wants to find out the reason for termination, where
can he find the details?

A. The user can get information from the AWS console, by checking the Instance description under the State transition reason label

B. The user can get information from the AWS console, by checking the Instance description under the Instance Termination reason label

C. The user can get information from the AWS console, by checking the Instance description under the Instance Status Change reason label
D. It is not possible to find the details after the instance is terminated

Answer: A

Explanation:

An EC2 instance, once terminated, may be available in the AWS console for a while after termination. The user can find the details about the termination from the
description tab under the label State transition reason. If the instance is still running, there will be no reason listed. If the user has explicitly stopped or terminated
the instance, the reason will be "User initiated shutdown".

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/Using_|nstanceStraightToTerminated.html

NEW QUESTION 7
A user has created a MySQL RDS instance with PIOPS. Which of the below mentioned statements will help user understand the advantage of PIOPS?

A. The user can achieve additional dedicated capacity for the EBS I/O with an enhanced RDS option
B. It uses optimized EBS volumes and optimized configuration stacks

C. It provides a dedicated network bandwidth between EBS and RDS

D. It uses a standard EBS volume with optimized configuration the stacks

Answer: B

Explanation:

RDS DB instance storage comes in two types: standard and provisioned IOPS. Standard storage is allocated on the Amazon EBS volumes and connected to the
user's DB instance. Provisioned IOPS uses optimized EBS volumes and an optimized configuration stack. It provides additional, dedicated capacity for the EBS
I/O.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 8
When a user is detaching an EBS volume from a running instance and attaching it to a new instance, which of the below mentioned options should be followed to
avoid file system damage?

A. Unmount the volume first

B. Stop all the I/O of the volume before processing

C. Take a snapshot of the volume before detaching

D. Force Detach the volume to ensure that all the data stays intact

Answer: A

Explanation:

When a user is trying to detach an EBS volume, the user can either terminate the instance or explicitly remove the volume. It is a recommended practice to
unmount the volume first to avoid any file system damage.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-detaching-volume.html

NEW QUESTION 9
A user has created a queue named "myqueue” with SQS. There are four messages published to queue which are not received by the consumer yet. If the user
tries to delete the queue, what will happen?

A. A user can never delete a queue manuall

B. AWS deletes it after 30 days of inactMty on queue

C. It will initiate the delete but wait for four days before deleting until all messages are deleted automatically.
D. It will ask user to delete the messages first

E. It will delete the queue

Answer: D

Explanation:

SQS allows the user to move data between distributed components of applications so they can perform different tasks without losing messages or requiring each
component to be always available. The user can delete a queue at any time, whether it is empty or not. It is important to note that queues retain

messages for a set period of time. By default, a queue retains messages for four days. Reference:
http://docs.aws.amazon.com/AWSSimpleQueueService/latest/SQSDeveloperGuide/SQSConcepts.html
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NEW QUESTION 10
What kind of service is provided by AWS DynamoDB?

A. Relational Database
B. NoSQL Database

C. Dynamic Database
D. Document Database

Answer: B

Explanation:
DynamoDB is a fast, fully managed NoSQL database service. Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 10
In Amazon SNS, to send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following, except:

A. Client secret
B. Client ID

C. Device token
D. Registration ID

Answer: C
Explanation:

To send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following: Registration ID and Client secret.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SNSMobilePushPrereqg.htmi

NEW QUESTION 15
How many types of block devices does Amazon EC2 support?
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Answer: C

Explanation:
Amazon EC2 supports 2 types of block devices. Reference:
http://docs.amazonwebservices.com/AWSEC2/latest/UserGuide/block-device-mapping-concepts.html

NEW QUESTION 20
Can a user get a notification of each instance start / terminate configured with Auto Scaling?

A. Yes, always

B. No

C. Yes, if configured with the Auto Scaling group
D. Yes, if configured with the Launch Config

Answer: C

Explanation:
The user can get notifications using SNS if he has configured the notifications while creating the Auto Scaling group.
Reference: http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/GettingStarted Tutorial.html

NEW QUESTION 25
In regard to DynamoDB, can | delete local secondary indexes?

A. Yes, if itis a primary hash key index

B. No

C. Yes, if it is a local secondary indexes
D. Yes, if it is a Global secondary indexes

Answer: B

Explanation:

In DynamoDB, an index cannot be modified once it is created. Reference: http://aws.amazon.com/dynamodb/faqs/#security_anchor
NEW QUESTION 29

A user has enabled the automated backup, but not specified the backup window. What will RDS do in this case?

A. Will throw an error on instance launch

B. RDS will take 3 AM — 3:30 AM as the default window

C. RDS assigns a random time period based on the region
D. Will not allow to launch a DB instance
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Answer: C

Explanation:

If the user does not specify a preferred backup window while enabling an automated backup, Amazon RDS assigns a default 30-minute backup window which is
selected at random from an 8-hour block of

time per region. Reference:

http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.html

NEW QUESTION 32
An online gaming site asked you if you can deploy a database that is a fast, highly scalable NoSQL database service in AWS for a new site that he wants to build.
Which database should you recommend?

A. Amazon Redshift

B. Amazon SimpleDB
C. Amazon DynamoDB
D. Amazon RDS

Answer: C

Explanation:

Amazon DynamoDB is ideal for database applications that require very low latency and predictable performance at any scale but don’'t need complex querying
capabilities like joins or transactions. Amazon DynamoDB is a fully-managed NoSQL database service that offers high performance, predictable throughput and
low cost. It is easy to set up, operate, and scale.

With Amazon DynamoDB, you can start small, specify the throughput and storage you need, and easily scale your capacity requirements on the fly. Amazon
DynamoDB automatically partitions data over a

number of servers to meet your request capacity. In addition, DynamoDB automatically replicates your data synchronously across multiple Availability Zones within
an AWS Region to ensure high-availability and data durability.

Reference: https://aws.amazon.com/running_databases/#dynamodb_anchor

NEW QUESTION 33
How long are the messages kept on an SQS queue by default?

A. If a message is not read, it is never deleted
B. 2 weeks

C. 1lday

D. 4 days

Answer: D

Explanation:

The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.

Reference: https://aws.amazon.com/sqs/faqgs/

NEW QUESTION 36
Regarding Amazon SWF, the coordination logic in a workflow is contained in a software program called a

A. Handler
B. Decider
C. Cordinator
D. Worker

Answer: B

Explanation:

In Amazon SWF, the coordination logic in a workflow is contained in a software program called a decider. The decider schedules actMty tasks, provides input data
to the actMty workers, processes events that arrive while the workflow is in progress, and ultimately ends (or closes) the workflow when the objective has been
completed.

Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-intro-to-swf.html

NEW QUESTION 37
How can a user configure three termination policies for the AutoScaling group?

A. Define multiple policies in random order

B. Define multiple policies in the ordered list

C. Keep updating the AutoScaling group with each policy

D. The user cannot specify more than two policies for AutoScaling

Answer: B
Explanation:
To configure the Auto Scaling termination policy, the user can either specify any one of the policies as a standalone policy or list multiple policies in an ordered list.

The policies are executed in the order that they are listed.
Reference: http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/us-termination-policy.html

NEW QUESTION 41
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A user wants to configure AutoScaling which scales up when the CPU utilization is above 70% and scales down when the CPU utilization is below 30%. How can
the user configure AutoScaling for the above mentioned condition?

A. Use AutoScaling with a schedule

B. Configure ELB to notify AutoScaling on load increase or decrease

C. Use dynamic AutoScaling with a policy

D. Use AutoScaling by manually modifying the desired capacity during a condition

Answer: C

Explanation:

The user can configure the AutoScaling group to automatically scale up and then scale down based on the specified conditions. To configure this, the user must
setup policies which will get triggered by the CloudWatch alarms.

Reference:

http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/as-scale-based-on-demand.html

NEW QUESTION 46
You have a number of image files to encode. In an Amazon SQS worker queue, you create an Amazon SQS message for each file specifying the command (jpeg-
encode) and the location of the file in Amazon S3. Which of the following statements best describes the functionality of Amazon SQS?

A. Amazon SQS is for single-threaded sending or receMng speeds.

B. Amazon SQS is a non-distributed queuing system.

C. Amazon SQS is a distributed queuing system that is optimized for horizontal scalability, not for single-threaded sending or receMng speeds.
D. Amazon SQS is a distributed queuing system that is optimized for vertical scalability and for single-threaded sending or receMng speeds.

Answer: C

Explanation:

Amazon SQS is a distributed queuing system that is optimized for horizontal scalability, not for

single-threaded sending or receMng speeds. A single client can send or receive Amazon SQS messages at a rate of about 5 to 50 messages per second. Higher
receive performance can be achieved by requesting multiple messages (up to 10) in a single call. It may take several seconds before a message that has been to
a queue is available to be received.

Reference: http://media.amazonwebservices.com/AWS_Storage_Options.pdf

NEW QUESTION 51
What is the maximum time messages can be stored in SQS?

A. 14 days

B. one month
C. 4 days

D. 7 days

Answer: A

Explanation:
A message can be stored in the Simple Queue Service (SQS) from 1 minute up to a maximum of 14 days. Reference:
http://aws.amazon.com/sqgs/faqs/#How_long_can_| keep_my_messages_in_Amazon_SQS_queues

NEW QUESTION 54
In DynamoDB, the default table size is:

A.5GB

B.1GB

C.10GB

D. There is no table size

Answer: D

Explanation:

DynamoDB has seamless scalability with no table size limits and unlimited storage, so you shouldn't be worried about managing storage on the host or to
provisioning more drive, as your data requirement changes.

Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 55
You want to have multiple versions of your application running at the same time, with all versions launched via AWS Elastic Beanstalk. Is this possible?

A. N

B. However if you have 2 AWS accounts this can be done

C.N

D. AWS Elastic Beanstalk is not designed to support multiple running environments

E.Ye

F. AWS Elastic Beanstalk is designed to support a number of multiple running environments

G. Ye

H. However AWS Elastic Beanstalk is designed to support only 2 multiple running environments
Answer: C

Explanation:
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AWS Elastic Beanstalk is designed to support multiple running environments. As an example you could have one for integration testing, one for pre-production,
and one for production, with each environment independently configured and running on its own separate AWS resources.
Reference: https://aws.amazon.com/elasticbeansta|k/fags/

NEW QUESTION 56
A user has launched an EBS backed Linux instance. How can a user detach the root device and attach it to another instance as a secondary volume?

A. Unmount the root volume first and then detach it

B. It is not possible to mount the root volume to some other instance

C. Stop the first instance and then attach instance’s root volume as a new volume to the other instance
D. It is not possible to mount the root device as a secondary volume on the other instance

Answer: C

Explanation:
If an Amazon EBS volume is the root device of an instance, it cannot be detached unless the instance is in the stopped state.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-detaching-volume.html

NEW QUESTION 57
When using Amazon SQS how much data can you store in a message?

A. 8 KB
B. 2 KB
C. 16 KB
D.4 KB

Answer: A

Explanation:

With Amazon SQS version 2008-01-01, the maximum message size for both SOAP and Query requests is 8KB.

If you need to send messages to the queue that are larger than 8 KB, AWS recommends that you split the information into separate messages. Alternatively, you
could use Amazon S3 or Amazon Simp|eDB to hold the information and include the pointer to that information in the Amazon SQS message.

If you send a message that is larger than 8KB to the queue, you will receive a MessageToolLong error with HTTP code 400.

Reference: https://aws.amazon.com/items/1343?external|D=1343

NEW QUESTION 59
A user has launched one EC2 instance in the US West region. The user wants to access the RDS instance launched in the US East region from that EC2 instance.
How can the user configure the access for that EC2 instance?

A. Itis not possible to access RDS of the US East region from the US West region

B. Open the security group of the US West region in the RDS security group’s ingress rule

C. Configure the IP range of the US West region instance as the ingress security rule of RDS

D. Create an IAM role which has access to RDS and launch an instance in the US West region with it

Answer: C

Explanation:

The user cannot authorize an Amazon EC2 security group if it is in a different AWS Region than the RDS DB instance. The user can authorize an IP range or
specify an Amazon EC2 security group in the same region that refers to an IP address in another region.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/lUSER_WorkingWithSecurityGroups.html

NEW QUESTION 63

You have been given a scope to deploy some AWS infrastructure for a large orgAMsation. The requirements are that you will have a lot of EC2 instances but may
need to add more when the average utilization of your Amazon EC2 fileet is high and conversely remove them when CPU utilization is low. Which AWS services
would be best to use to accomplish this?

A. Amazon CloudFront, Amazon CloudWatch and Elastic Load Balancing.
B. Auto Scaling, Amazon CloudWatch and AWS CloudTrail.

C. Auto Scaling, Amazon CloudWatch and Elastic Load Balancing.

D. Auto Scaling, Amazon CloudWatch and AWS Elastic Beanstalk

Answer: C

Explanation:

Auto Scaling enables you to follow the demand curve for your applications closely, reducing the need to manually provision Amazon EC2 capacity in advance. For
example, you can set a condition to add new Amazon EC2 instances in increments to the Auto Scaling group when the average utilization of your Amazon EC2
fileet is high; and similarly, you can set a condition to remove instances in the same increments when CPU utilization is low. If you have predictable load changes,
you can set a schedule through Auto Scaling to plan your scaling actMties. You can use Amazon CloudWatch to send alarms to trigger scaling actMties and
Elastic Load Balancing to help distribute traffic to your instances within Auto Scaling groups. Auto Scaling enables you to run your Amazon EC2 fileet at optimal
utilization. Reference: http://aws.amazon.com/autoscaling/

NEW QUESTION 64
A user has launched an EC2 instance and installed a website with the Apache webserver. The webserver is running but the user is not able to access the website
from the internet. What can be the possible reason for this failure?

A. The security group of the instance is not configured properly.

B. The instance is not configured with the proper key-pairs.
C. The Apache website cannot be accessed from the internet.
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D. Instance is not configured with an elastic |
Answer: A

Explanation:

In Amazon Web Services, when a user has configured an instance with Apache, the user needs to ensure that the ports in the security group are opened as
configured in Apache config. E.g. If Apache is running on port 80, the user should open port 80 in the security group.

Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/using-network-security.htmi

NEW QUESTION 67
When you use the AWS Elastic Beanstalk console to deploy a new application you'll need to upload a source bundle and it should .

A. Consist of a single .zip file

B. Consist of a single .war file

C. Consist of a single .zip file or .war file
D. Consist of a folder with all files

Answer: C

Explanation:

When you use the AWS Elastic Beanstalk console to deploy a new application or an application version, you'll need to upload a source bundle. Your source
bundle must meet the following requirements: Consist of a single .zip file or .war file

Not exceed 512 MB

Not include a parent folder or top-level directory (subdirectories are fine) Reference:
http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/using-features.deployment.source.html

NEW QUESTION 72
How does Amazon SQS allow multiple readers to access the same message queue without losing messages or processing them many times?

A. By identifying a user by his unique id

B. By using unigue cryptography

C. Amazon SQS queue has a configurable visibility timeout.
D. Multiple readers can't access the same message queue

Answer: C

Explanation:

Every Amazon SQS queue has a configurable visibility timeout. For the designated amount of time after a message is read from a queue, it will not be visible to
any other reader. As long as the amount of time that it takes to process the message is less than the visibility timeout, every message will be processed and
deleted. In the event that the component processing the message fails or becomes unavailable, the message will again become visible to any component reading
the queue once the visibility timeout ends. This allows you to have many components all reading messages from the same queue, with each working to process
different messages.

Reference: https://aws.amazon.com/sqs/fags/

NEW QUESTION 75
A user is trying to understand AWS SNS. To which of the below mentioned end points is SNS unable to send a notification?

A. AWS SES
B. Email JSON
C. AWS SQS
D. HTTP

Answer: A

Explanation:

Amazon Simple Notification Service (Amazon SNS) is a fast, filexible, and fully managed push messaging service. Amazon SNS can deliver notifications by SMS
text message or email to the Amazon Simple Queue Service (SQS) queues or to any HTTP endpoint. The user can select one the following

transports as part of the subscription requests: "HTTP", "HTTPS","Emai|", "Email-JSON", "SQS", "and SMS".

Reference: http://aws.amazon.com/sns/faqs/

NEW QUESTION 78
Which of the following device names is recommended for an EBS volume that can be attached to an Amazon EC2 Instance running Windows?

A. xvd[a-€e]

B. /mnt/sd[b-€]
C. xvd[f-p]

D. /dev/sdal

Answer: C
Explanation:

The xvd[f-p] is the recommended device name for EBS volumes that can be attached to the Amazon EC2 Instances running on Windows.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/WindowsGuide/device_naming.html

NEW QUESTION 82
Can one instance be registered with two ELBs in the same region?
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A. No

B. Yes, provided both ELBs have the same health check configuration
C. Yes, always

D. Yes, provided both ELBs are in the same AZ

Answer: C

Explanation:

Yes, it is possible to have one instance part of two separate ELBs, though both ELBs have different configurations. ELBs are never launched in specific zones.
Reference:

http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/enable-disable-az.html

NEW QUESTION 86
What does Amazon SQS provide?

A. An asynchronous message queue service.

B. A Simple Query Sewer, managed directly by Amazon Web Services.
C. None of these.

D. A synchronous message queue service.

Answer: A

Explanation:

Amazon SQS stands for Simple Queue Services, and provides a cost-effective way to decouple the components of your application through an asynchronous
message queue service

Reference: http://aws.amazon.com/sqs/

NEW QUESTION 87
A user is trying to create a list of IAM users with the AWS console. When the 1AM users are created which of the below mentioned credentials will be enabled by
default for the user?

A. 1AM access key and secret access key
B. IAM X.509 certificates

C. Nothin

D. Everything is disabled by default

E. IAM passwords

Answer: C

Explanation:

Newly created IAM users have no password and no access key (access key ID and secret access key). If the user needs to administer your AWS resources using
the AWS Management Console, you can create

a password for the user. If the user needs to interact with AWS programmatically (using the command line interface (CLI), the AWS SDK, or service-specific APIs),
you can create an access key for that user. The credentials you create for users are what they use to uniquely identify themselves to AWS.

Reference: http://docs.aws.amazon.com/IAM/|atest/UserGuide/Using_WorkingWithGroupsAndUsers.html

NEW QUESTION 88
An orgAMzation is setting up their website on AWS. The orgAMzation is working on various security measures to be performed on the AWS EC2 instances. Which
of the below mentioned security mechAMsms will not help the orgAMzation to avoid future data leaks and identify security weaknesses?

A. Perform SQL injection for application testing.

B. Run penetration testing on AWS with prior approval from Amazon.
C. Perform a hardening test on the AWS instance.

D. Perform a Code Check for any memory leak

Answer: D

Explanation:

AWS security follows the shared security model where the user is as much responsible as Amazon. Since Amazon is a public cloud it is bound to be targeted by
hackers. If an orgAMzation is planning to host their application on AWS EC2, they should perform the below mentioned security checks as a measure to find any
security weakness/data leaks:

Perform penetration testing as performed by attackers to find any vulnerability. The orgAMzation must take an approval from AWS before performing penetration
testing

Perform hardening testing to find if there are any unnecessary ports open Perform SQL injection to find any DB security issues

The code memory checks are generally useful when the orgAMzation wants to improve the application performance.

Reference: http://aws.amazon.com/security/penetration-testing/

NEW QUESTION 89
A root account owner is trying to setup an additional level of security for all his IAM users. Which of the below mentioned options is a recommended solution for the
account owner?

A. Enable access key and secret access key for all the IAM users
B. Enable MFA for all IAM users

C. Enable the password for all the IAM users

D. Enable MFA for the root account

Answer: B

Explanation:
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Multi-Factor Authentication adds an extra level of security for all the users. The user can enable MFA for all IAM users which ensures that each user has to provide
an extra six digit code for authentication. Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/Using_ManagingMFA.html

NEW QUESTION 91
Which of the below mentioned commands allows the user to share the AMI with his peers using the AWS EC2 CLI?

A. ec2-share-image-public

B. ec2-share-image-account
C. ec2-share-image

D. ec2-modify-image-attribute

Answer: D

Explanation:

A user can share an AMI with another user / peer using the command: ec2-modify-image-attribute
<AMI-ID> -| -a <AWS Account |D>

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/sharingamis-explicit.html

NEW QUESTION 93
In regards to Amazon SQS how many times will you receive each message?

A. At least twice
B. Exactly once
C. As many times as you want
D. At least once

Answer: D

Explanation:

Amazon SQS is engineered to provide "at least once" delivery of all messages in its queues. Although most of the time, each message will be delivered to your
application exactly once, you should design your system so that processing a message more than once does not create any errors or inconsistencies. Reference:
https://aws.amazon.com/sqs/fags/

NEW QUESTION 95
A user has set an IAM policy where it allows all requests if a request from IP 10.10.10.1/32. Another policy allows all the requests between 5 PM to 7 PM. What will
happen when a user is requesting access from IP 10.10.10.1/32 at 6 PM?

A. IAM will throw an error for policy conflict

B. It is not possible to set a policy based on the time or IP
C. It will deny access

D. It will allow access

Answer: D

Explanation:

With regard to IAM, when a request is made, the AWS service decides whether a given request should be allowed or denied. The evaluation logic follows these
rules:

By default, all requests are denied. (In general, requests made using the account credentials for resources in the account are always allowed.)

An explicit allow policy overrides this default. An explicit deny policy overrides any allows. Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPolicyLanguage_EvaluationLogic.htmi

NEW QUESTION 97

An orgAMzation is having an application which can start and stop an EC2 instance as per schedule. The orgAMzation needs the MAC address of the instance to
be registered with its software. The instance is launched in EC2-CLASSIC. How can the orgAMzation update the MAC registration every time an instance is
booted?

A. The instance MAC address never change

B. Thus, it is not required to register the MAC address every time.

C. The orgAMzation should write a boot strapping script which will get the MAC address from the instance metadata and use that script to register with the
application.

D. AWS never provides a MAC address to an instance; instead the instance ID is used for identifying the instance for any software registration.

E. The orgAMzation should provide a MAC address as a part of the user dat

F. Thus, whenever the instance is booted the script assigns the fixed MAC address to that instance.

Answer: B

Explanation:

AWS provides an on demand, scalable infrastructure. AWS EC2 allows the user to launch On-Demand instances. AWS does not provide a fixed MAC address to
the instances launched in EC2-CLASSIC. If the instance is launched as a part of EC2-VPC, it can have an ENI which can have a fixed MAC. However, with
EC2-CLASSIC, every time the instance is started or stopped it will have a new MAC address.

To get this MAC, the orgAMzation can run a script on boot which can fetch the instance metadata and get the MAC address from that instance metadata. Once the
MAC is received, the orgAMzation can register that MAC with the software.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/AESDG-chapter-instancedata.html

NEW QUESTION 102
A user is trying to share a video file with all his friends. Which of the below mentioned AWS services will be cheapest and easy to use?

A. AWS S3
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B. AWS EC2
C. AWS RRS
D. AWS Glacier

Answer: C

Explanation:

AWS RRS provides the same functionality as AWS S3, but at a cheaper rate. It is ideally suited for non mission critical applications. It provides less durability than
S3, but is a cheaper option.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/UsingRRS.html

NEW QUESTION 107
A user has launched an RDS instance. The user has created 3 databases on the same server. What can the maximum size be for each database?

A. The size of each DB cannot be more than 3 TB

B. It is not possible to have more than one DB on a single instance
C. The total instance storage size cannot be more than 3 TB

D. The size of each DB cannot be more than 1 TB

Answer: C

Explanation:

The AWS RDS DB instance is an isolated DB environment provided by AWS in which the user can create more than 1 database. The maximum size ofthe
instance should be between 5 GB and 3 TB. The size of each DB can be anything in this range.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 108
A user has created an RDS instance with MySQL. The user is using the HeidiSQL client to connect with the RDS DB. The client is unable to connect to DB from
his home machine. What is a possible reason for the failure?

A. The user has to open port 80 in the RDS security group to connect with RDS DNS

B. The security group is not configured to allow a request from the user’s IP on port 3306
C. You can never connect to RDS from your desktop

D. The user has to open port 22 in the RDS security group to connect with RDS DNS

Answer: B

Explanation:
If the user needs to connect to RDS then he has to open port 3306 in the RDS security group for his IP address.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 113
Can a user associate and use his own DNS with ELB instead ofthe DNS provided by AWS ELB?

A. Yes, by creating a CNAME with the existing domain name provider
B. Yes, by configuring DNS in the AWS Console

C. No

D. Yes, only through Route 53 by mapping ELB and DNS

Answer: A

Explanation:

The AWS ELB allows mapping a custom domain name with ELB. The user can map ELB with DNS in two ways: 1) By creating CNAME with the existing domain
name service provider or 2) By creating a record with Route 53.

Reference:

http://docs.aws.amazon.com/E|asticLoadBalancing/latest/DeveloperGuide/using-domain-names-with-elb. html

NEW QUESTION 115
In relation to Amazon Simple Workflow Service (Amazon SWF),what is an "ActMty Worker"?

A. An indMdual task undertaken by a workflow
B. The automation of a business process

C. A piece of software that implements tasks
D. All answers listed are correct

Answer: C
Explanation:
In relation to Amazon Simple Workflow Service (Amazon SWF), an actMty worker is a program that receives actMty tasks, performs them, and provides results

back. Which translates to a piece of software that implements tasks.
Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-develop-actMty.html

NEW QUESTION 119
You cannot access your AWS console, so you revert to using the CLI that you are not familiar with. Which of the following commands is not a valid CLI command
for EC2 instances?

A. ec2-allocate-address
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B. ec2-attach-internet-gateway
C. ec2-associate-route-table
D. ec2-allocate-interface

Answer: D

Explanation:

You can use the CLI tools to manage your Amazon EC2 resources (such as instances, security groups, and volumes) and your Amazon VPC resources (such as
VPCs, subnets, route tables, and Internet gateways). Before you can start using the tools, you must download and configure them.

The following are valid CLI commands for EC2 instances: ec2-accept-vpc-peering-connection

ec2-allocate-address

ec2-assign-private-ip-addresses ec2-associate-address

ec2-associate-dhcp-options ec2-associate-route-table

ec2-attach-internet-gateway

ec2-attach-network-interface (not ec2-allocate-interface) Reference:
http://docs.aws.amazon.com/AWSEC2/latest/CommandLineReference/command-reference.html

NEW QUESTION 123
When AutoScaling is launching a new instance based on condition, which of the below mentioned policies will it follow?

A. Based on the criteria defined with cross zone Load balancing
B. Launch an instance which has the highest load distribution

C. Launch an instance in the AZ with the fewest instances

D. Launch an instance in the AZ which has the highest instances

Answer: C

Explanation:

AutoScaling attempts to distribute instances evenly between the Availability Zones that are enabled for the user's AutoScaling group. Auto Scaling does this by
attempting to launch new instances in the Availability Zone with the fewest instances.
Reference:http://docs.aws.amazon.com/AutoScaling/latest/Deve|operGuide/AS_Concepts.html

NEW QUESTION 125
Which Amazon service is not used by Elastic Beanstalk?

A. Amazon S3
B. Amazon ELB
C. Auto scaling
D. Amazon EMR

Answer: D

Explanation:

Elastic Beanstalk leverages AWS services such as Amazon Elastic Cloud Compute (Amazon EC2), Amazon Simple Storage Service (Amazon S3), Amazon
Simple Notification Service (Amazon SNS), Elastic Load Balancing and Auto Scaling to deliver the same highly reliable, scalable, and cost-effective infrastructure
that hundreds of thousands of businesses depend on today.

Reference: http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/ANelcome.html

NEW QUESTION 129
Which header received at the EC2 instance identifies the port used by the client while requesting ELB?

A. X-Forvvarded-Proto
B. X-Requested-Proto
C. X-Forvvarded-Port
D. X-Requested-Port

Answer: C

Explanation:
The X-Forvvarded-Port request header helps the user identify the port used by the client while sending a request to ELB.
Reference: http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/TerminologyandKeyConcepts. html

NEW QUESTION 130
AWS Elastic Beanstalk will change the health status of a web server environment tier to gray color when:

A. AWS Elastic Beanstalk detects other problems with the environment that are known to make the application unavailable
B. Your application hasn't responded to the application health check URL within the last one hour.

C. Your application hasn't responded to the application health check URL within the last five minutes.

D. Your application's health status is unknown because status is reported when the application is not in the ready state.

Answer: D
Explanation:
AWS Elastic Beanstalk will change the health status of a web server environment tier to gray color when your application's health status is unknown (because

status is reported when the application is not in the ready state).
Reference: http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/using-features.healthstatus.html
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NEW QUESTION 132
Your manager has requested you to tag EC2 instances to orgAMze and manage a load balancer. Which of the following statements about tag restrictions is
incorrect?

A. The maximum key length is 127 Unicode characters.
B. The maximum value length is 255 Unicode characters.
C. Tag keys and values are case sensitive.

D. The maximum number of tags per load balancer is 20.

Answer: D

Explanation:

Tags help you to categorize your load balancers in different ways, for example, by purpose, owner, or environment. The following basic restrictions apply to tags:
The maximum number of tags per resource is

10. The maximum key length is 127 Unicode characters. The maximum value length that can be used is 255 Unicode characters. The tag keys and values are
case sensitive. Allowed characters are letters, spaces, and numbers representable in UTF-8, plus the following special characters: + - =. _:/ @. Do not use
leading or trailing spaces. Do not use the aws: prefix in your tag names or values because it is reserved for AWS use. You can't edit or delete tag names or values
with this prefix. Tags with this prefix do not count against your tags per resource limit.

Reference:

http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/add-remove-tags.html#tag-res trictions

NEW QUESTION 137
What is the maximum number of tags that a user can assign to an EC2 instance?
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5
Answer: B

Explanation:

To help manage EC2 instances as well as their usage in a better way, the user can tag the instances. The tags are metadata assigned by the user which consists
of a key and a value. One resource can have a maximum of 10 tags.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/Using_Tags.html

NEW QUESTION 139
The user has created multiple AutoScaling groups. The user is trying to create a new AS group but it fails. How can the user know that he has reached the AS
group limit specified by AutoScaling in that region?

A. Run the command: as-describe-account-limits
B. Run the command: as-describe-group-limits
C. Run the command: as-max-account-limits

D. Run the command: as-list-account-limits

Answer: A

Explanation:
A user can see the number of AutoScaling resources currently allowed for the AWS account either by using the as-describe-account-limits command or by calling
the DescribeAccountLimits action. Reference:http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/ts-as-capacity.html

NEW QUESTION 144
A user has enabled serverside encryption with S3. The user downloads the encrypted object from S3. How can the user decrypt it?

A. S3 does not support server side encryption

B. S3 provides a server side key to decrypt the object

C. The user needs to decrypt the object using their own private key
D. S3 manages encryption and decryption automatically

Answer: D

Explanation:

If the user is using the server-side encryption feature, Amazon S3 encrypts the object data before saving it on disks in its data centres and decrypts it when the
user downloads the objects. Thus, the user is free from the tasks of managing encryption, encryption keys, and related tools.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/UsingEncryption.html

NEW QUESTION 147

Does Amazon DynamoDB support both increment and decrement atomic operations?

A. No, neither increment nor decrement operations.

B. Only increment, since decrement are inherently impossible with DynamoDB's data model.
C. Only decrement, since increment are inherently impossible with DynamoDB's data model.
D. Yes, both increment and decrement operation

Answer: D

Explanation:
Amazon DynamoDB supports increment and decrement atomic operations.
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Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/APISummary.html

NEW QUESTION 152
In regard to DynamoDB, can | modify the index once it is created?

A. Yes, if it is a primary hash key index
B. Yes, if it is a Global secondary index
C. No

D. Yes, if it is a local secondary index

Answer: C

Explanation:
Currently, in DynamoDB, an index cannot be modified once it is created. Reference: http://aws.amazon.com/dynamodb/fags/#security_anchor

NEW QUESTION 156
A user is launching an AWS RDS with MySQL. Which of the below mentioned options allows the user to configure the INNODB engine parameters?

A. Options group

B. Engine parameters
C. Parameter groups
D. DB parameters

Answer: C

Explanation:

With regard to RDS, the user can manage the configuration of a DB engine by using a DB parameter group. A DB parameter group contains engine configuration
values that can be applied to one or more DB instances of the same instance type.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 161
A user is configuring the HTTPS protocol on a front end ELB and the SSL protocol for the back-end listener in ELB. What will ELB do?

A. It will allow you to create the configuration, but the instance will not pass the health check
B. Receives requests on HTTPS and sends it to the back end instance on SSL

C. It will not allow you to create this configuration

D. It will allow you to create the configuration, but ELB will not work as expected

Answer: C

Explanation:

If a user is configuring HTTPS on the front end and TCP on the back end, ELB will not allow saving these listeners and will respond with the message.

"Load Balancer protocol is an application layer protocol, but instance protocol is not. Both the Load Balancer protocol and the instance protocol should be at the
same layer. Please fix."

Reference:

http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/elb-troubleshooting.html

NEW QUESTION 166
The user has configured AutoScaling based on the dynamic policy. Which of the following is not the right command to specify a change in capacity as a part of the
policy?

A. "adjustment=-50" (type is PercentChangelnCapacity)
B. "adjustment=3" (type is ExactCapacity)

C. "adjustment=-1" (type is ChangelnCapacity)

D. "adjustment=-8" (type is ExactCapacity)

Answer: D

Explanation:

The user can configure the AutoScaling group to automatically scale up and then scale down based on the various specified CloudWatch monitoring conditions.
The user needs to provide the adjustment value and the adjustment type. A positive adjustment value increases the current capacity and a negative adjustment
value decreases the current capacity. The user can express the change to the current size as an absolute number, an increment or as a percentage of the current
group size.

In this option specifying the exact capacity with the adjustment value = -8 will not work as when type is exact capacity the adjustment value cannot be negative.
Reference:

http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/as-scale-based-on-demand.html

NEW QUESTION 167

When you use the AWS Elastic Beanstalk console to deploy a new application .
A. you'll need to upload each file separately

B. you'll need to create each file and path

C. you'll need to upload a source bundle

D. you'll need to create each file

Answer: C
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Explanation:

When you use the AWS Elastic Beanstalk console to deploy a new application or an application version, you’ll need to upload a source bundle.
Reference:

http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/using-features.deployment.source.html

NEW QUESTION 171
A user has created a snapshot of an EBS volume. Which of the below mentioned usage cases is not possible with respect to a snapshot?

A. Nlirroring the volume from one AZ to another AZ
B. Launch an instance

C. Decrease the volume size

D. Increase the size of the volume

Answer: C

Explanation:

The EBS shapshots are a point in time backup ofthe volume. It is helpful to move the volume from one AZ to another or launch a new instance. The user can
increase the size of the volume but cannot decrease it less than the original snapshot size.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmi

NEW QUESTION 174
Which OS does the current version of AWS Elastic Beanstalk use?

A. Amazon Linux AMI, Windows Server 2003 R2 AMI or the Windows Server 2008 R2 AMI
B. Amazon Linux AMI only

C. Amazon Linux AMI or the Windows Server 2008 R2 AMI

D. Windows Sewer 2008 R2 AMI only

Answer: C

Explanation:
The current version of AWS Elastic Beanstalk uses the Amazon Linux AMI or the Windows Server 2008 R2 AMI.
Reference: https://aws.amazon.com/elasticbeansta|k/fags/

NEW QUESTION 179
A user is creating an EBS volume. He asks for your advice. Which advice mentioned below should you not give to the user for creating an EBS volume?

A. Take the snapshot of the volume when the instance is stopped
B. Stripe multiple volumes attached to the same instance

C. Create an AMI from the attached volume

D. Attach multiple volumes to the same instance

Answer: C

Explanation:

When a user creates an EBS volume, the user can attach it to a running instance. The user can attach multiple volumes to the same instance and stripe them
together to increase the 1/0. The user can take a snapshot from the existing volume but cannot create an AMI from the volume. However, the user can create an
AMI from a snapshot.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSVolumes.html

NEW QUESTION 183
The AWS console for DynamoDB enables you to do all the following operations, except:

A. Set up alarms to monitor your table's capacity usage.

B. Create, update, and delete tables.

C. Import Data from other databases or from files.

D. View your table's top monitoring metrics on real-time graphs from CloudWatc

Answer: C

Explanation:
The AWS console for DynamoDB enables you to do all the above operation but not Importing Data from other databases or from files and it is not possible to do it.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/ConsoleDynamoDB.html

NEW QUESTION 185
Your supervisor has asked you to build a simple file synchronization service for your department. He doesn't want to spend too much money and he wants to be
notified of any changes to files by email. What do you think would be the best Amazon service to use for the email solution?

A. Amazon CloudSearch

B. Amazon Elastic Transcoder
C. Amazon SES

D. Amazon AppStream

Answer: C

Explanation:
File change notifications can be sent via email to users following the resource with Amazon Simple Email Service (Amazon SES), an easy-to-use, cost-effective
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email solution.
Reference: http://media.amazonwebservices.com/architecturecenter/AWS_ac_ra_filesync_08.pdf

NEW QUESTION 188
ExamKiller has three AWS accounts. They have created separate IAM users within each account. ExamKiller wants a single IAM console URL such as
https://examkiller.signin.aws.amazon.com/console/ for all account users. How can this be achieved?

A. Merge all the accounts with consolidated billing

B. Create the same account alias with each account ID

C. Itis not possible to have the same IAM account login URL for separate AWS accounts

D. Create the S3 bucket with an alias name and use the redirect rule to forward requests to various accounts

Answer: C

Explanation:

If a user wants the URL of the AWS IAM sign-in page to have a company name instead of the AWS account ID, he can create an alias for his AWS account ID.
The alias should be unique.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccountAlias.html

NEW QUESTION 189
A user has enabled automated backup for an RDS instance. What is the longest duration for which the user can retain the automated backup?

A. 25 days
B. 15 days
C. 45 days
D. 35 days

Answer: D

Explanation:

Amazon RDS provides two different methods for backing up and restoring the Amazon DB instances: automated backups and DB snhapshots. Automated backups
automatically back up the DB instance during a specific, user-definable backup window, and keep the backups for a limited, user-specified period of time. The
maximum period can be 35 days.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.html

NEW QUESTION 193
A user has configured an automated backup between 5 AM — 5:30 AM for the MySQL RDS DB. Will the performance of RDS get frozen momentarily during a
backup?

A. No

B. Yes, only if the instance size is smaller than large size
C. Yes, provided it is a single zone implementation

D. Yes, always

Answer: C

Explanation:

Amazon RDS provides two different methods for backing up and restoring the Amazon DB instances. A brief I/O freeze, typically lasting a few seconds, occurs
during both automated backups and DB snapshot operations on Single-AZ DB instances.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.html

NEW QUESTION 196
A user has configured a website and launched it using the Apache web server on port 80. The user is using ELB with the EC2 instances for Load Balancing. What
should the user do to ensure that the EC2 instances accept requests only from ELB?

A. Open the port for an ELB static IP in the EC2 security group

B. Configure the security group of EC2, which allows access to the ELB source security group
C. Configure the EC2 instance so that it only listens on the ELB port

D. Configure the security group of EC2, which allows access only to the ELB listener

Answer: B

Explanation:

When a user is configuring ELB and registering the EC2 instances with it, ELB will create a source security group. If the user wants to allow traffic only from ELB,
he should remove all the rules set for the other requests and open the port only for the ELB source security group.

Reference:

http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/using-elb-security-groups.html

NEW QUESTION 197
When working with AWS CloudFormation Templates what is the maximum number of stacks that you can create?

A. 500
B. 50
C.20
D. 10

Answer: C
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Explanation:

C|oudFormation Limits

Maximum number of AWS CloudFormation stacks that you can create is 20 stacks. Reference:
http://docs.aws.amazon.com/AWSCloudFormation/latest/UserGuide/cloudformation-limits.html

NEW QUESTION 202
Does DynamoDB support in-place atomic updates?

A. Itis not defined

B. Yes

C. It does support in-place non-atomic updates
D. No

Answer: B

Explanation:
DynamoDB supports in-place atomic updates. Reference:
http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/\NorkingWithltems.html#Working Withltems.AtomicCounters

NEW QUESTION 204
A bucket owner has allowed another account’s IAM users to upload or access objects in his bucket. The IAM user of Account A is trying to access an object
created by the IAM user of account B. What will happen in this scenario?

A. The bucket policy may not be created as S3 will give error due to conflict of Access Rights

B. It is not possible to give permission to multiple IAM users

C. AWS S3 will verify proper rights given by the owner of Account A, the bucket owner as well as by the IAM user B to the object
D. It is not possible that the IAM user of one account accesses objects of the other IAM user

Answer: C

Explanation:

If a IAM user is trying to perform some action on an object belonging to another AWS user’s bucket, S3 will verify whether the owner of the IAM user has given
sufficient permission to him. It also verifies the policy for the bucket as well as the policy defined by the object owner.

Reference:

http://docs.aws.amazon.com/AmazonS3/latest/dev/access-control-auth-workflow-object-operation.htmi

NEW QUESTION 208
A user wants to achieve High Availability with PostgreSQL DB. Which of the below mentioned functionalities helps achieve HA?

A. Read Replica

B. Multi AZ

C. Multi region

D. PostgreSQL does not support HA

Answer: B

Explanation:

The Multi AZ feature allows the user to achieve High Availability. For Mu|ti AZ, Amazon RDS

automatically provisions and maintains a synchronous "standby" replica in a different Availability Zone. Reference:
http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 211
Which of the following programming languages have an officially supported AWS SDK? Choose 2 answers

A. Perl

B. PHP
C. Pascal
D. Java
E. SQL

Answer: BD

NEW QUESTION 214

How can you secure data at rest on an EBS volume?

A. Attach the volume to an instance using EC2's SSL interface.

B. Write the data randomly instead of sequentially.

C. Use an encrypted file system on top of the BBS volume.

D. Encrypt the volume using the S3 server-side encryption service.

E. Create an IAM policy that restricts read and write access to the volum
Answer: C

NEW QUESTION 219
Which of the following are correct statements with policy evaluation logic in AWS Identity and Access Management? Choose 2 answers
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A. By default, all requests are denied

B. An explicit allow overrides an explicit deny

C. An explicit allow overrides default deny.

D. An explicit deny does not override an explicit allow
E. By default, all request are allowed

Answer: AC

NEW QUESTION 224

A meteorological system monitors 600 temperature gauges, obtaining temperature samples every minute and saving each sample to a DynamoDB table. Each
sample involves writing 1K of data and the writes are evenly distributed over time.

How much write throughput is required for the target table?

A. 1 write capacity unit

B. 10 write capacity units
C. 60 write capacity units
D. 600 write capacity units
E. 3600 write capacity units

Answer: B

NEW QUESTION 229

A startup s photo-sharing site is deployed in a VPC. An ELB distributes web traffic across two subnets. ELB session stickiness is configured to use the AWS-
generated session cookie, with a session TTL of 5 minutes. The webserver Auto Scaling Group is configured as: min-size=4, max-size=4.

The startups preparing for a public launch, by running load-testing software installed on a single EC2 instance running in us-west-2a. After 60 minutes of load-
testing, the webserver logs show:

WEBSFRVER LOGS froe load-Lester from private beta Osera
var #1 [(subhet 1

r-#2 (subnet 1

E #d [Sii6HET 1B

=
r #3 [subnet in tas-west
&

Which recommendations can help ensure load-testing HTTP requests are evenly distributed across the
four webservers? Choose 2 answers

A. Launch and run the load-tester EC2 instance from us-east-1 instead.

B. Re-configure the load-testing software to re-resolve DNS for each web request.
C. Use a 3rd-party load-testing service which offers globally-distributed test clients.
D. Configure ELB and Auto Scaling to distribute across us-west-2a and us-west-2c.
E. Configure ELB session stickiness to use the app-specific session cooki

Answer: BE

NEW QUESTION 230
In AWS, which security aspects are the customer’s responsibility? Choose 4 answers

A. Life-cycle management of IAM credentials

B. Decommissioning storage devices

C. Security Group and ACL (Access Control List) settings

D. Encryption of EBS (Elastic Block Storage) volumes

E. Controlling physical access to compute resources

F. Patch management on the EC2 instance’s operating system

Answer: ABCF

NEW QUESTION 235

You are providing AWS consulting services for a company developing a new mobile application that will be leveraging Amazon SNS Mobile Push for push
notifications. In order to send direct notification messages to indMdual devices each device registration identifier or token needs to be registered with SNS;
however the developers are not sure of the best way to do this.

You advise them to:

A. Bulk upload the device tokens contained in a CSV file via the AWS Management Console.
B. Let the push notification service (e.

C. Amazon Device Messaging) handle the registration.

D. Implement a token vending service to handle the registration.

E. Call the CreatePlatformEndPoint API function to register multiple device token

Answer: B

NEW QUESTION 237

EC2 instances are launched from Amazon Machine images (AMIS). A given public AMI can:
A. be used to launch EC2 Instances in any AWS region.

B. only be used to launch EC2 instances in the same country as the AMI is stored.

C. only be used to launch EC2 instances in the same AWS region as the AMI is stored.
D. only be used to launch EC2 instances in the same AWS availability zone as the AMI is stored

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\l;/ Exam Recommend!! Get the Full AWS-Certified-Developer-Associate dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/AWS-Certified-Developer-Associate-exam-dumps.html (463 New Questions)

Answer: C

NEW QUESTION 239
Which of the following platforms are supported by Elastic Beanstalk? Choose 2 answers

A. Apache Tomcat
B. .NET

C. IBM Websphere
D. Oracle JBoss

E. Jetty

Answer: AB

NEW QUESTION 240
Which EC2 API call would you use to retrieve a list of Amazon Machine Images (AMIs)?

A. Descnbelnstances

B. DescribeAMIs

C. Describelmages

D. GetAMIs

E. You cannot retrieve a list of AMIs as there are over 10,000 AMIs

Answer: E

NEW QUESTION 243
When a Simple Queue Service message triggers a task that takes 5 minutes to complete, which process below will result in successful processing of the message
and remove it from the queue while minimizing the chances of duplicate processing?

A. Retrieve the message with an increased visibility timeout, process the message, delete the message from the queue
B. Retrieve the message with an increased visibility timeout, delete the message from the queue, process the message
C. Retrieve the message with increased DelaySeconds, process the message, delete the message from the queue
D. Retrieve the message with increased DelaySeconds, delete the message from the queue, process the message

Answer: A

NEW QUESTION 244

Company B provides an online image recognition service and utilizes SOS to decouple system components for scalability The SQS consumers poll the imaging
gueue as often as possible to keep

end-to-end throughput as high as possible. However, Company B is realizing that polling in tight loops is burning CPU cycles and increasing costs with empty
responses.

How can Company B reduce the number of empty responses?

A. Set the imaging queue visibility Timeout attribute to 20 seconds

B. Set the Imaging queue ReceiveMessageWaitTimeSeconds attribute to 20 seconds
C. Set the imaging queue MessageRetentionPeriod attribute to 20 seconds

D. Set the DelaySeconds parameter of a message to 20 seconds

Answer: B

NEW QUESTION 248
What is the maximum number of S3 Buckets available per AWS account?

A. 100 per region

B. there is no limit
C. 100 per account
D. 500 per account
E. 100 per IAM user

Answer: C
NEW QUESTION 250

Which code snippet below returns the URL of a load balanced web site created in CloudFormation with an AWS::ElasticLoadBalancing::LoadBalancer resource
name "ElasticLoad Balancer"?

A."Fn::Join" : [ . ["http://", {"Fn::GetAtr" : ['"ElasticLoadBalancer","DNSName"]}]]
B. "Fn::Join" : [ " . ["http://", {"Fn::GetAtr" : ["E|asticLoadBalancer","Ur|"]}]]
C."Fn:Join" ;[ " . ["http://", {"Ref" : "ElasticLoadBalancerUr|"}]]

D. "Fn::Join" : ["http://", {"Ref" : "ElasticLoadBalancerDNSName"}]]

Answer: B

NEW QUESTION 252

Your application is trying to upload a 6 GB file to Simple Storage Service and receive a "Your proposed upload exceeds the maximum allowed object size." error
message.

What is a possible solution for this?
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A. None, Simple Storage Service objects are limited to 5 GB
B. Use the multi-part upload API for this object

C. Use the large object upload API for this object

D. Contact support to increase your object size limit

E. Upload to a different region

Answer: B

NEW QUESTION 257
Which of the following services are included at no additional cost with the use of the AWS platform? Choose 2 answers

A. Simple Storage Service
B. Elastic Compute Cloud
C. Auto Scaling

D. Elastic Load Balancing
E. CloudFormation

F. Simple Workflow Service

Answer: CE

NEW QUESTION 262

You attempt to store an object in the US-STANDARD region in Amazon S3, and receive a confirmation that it has been successfully stored. You then immediately
make another API call and attempt to read this object. S3 tells you that the object does not exist

What could explain this behavior?

A. US-STANDARD uses eventual consistency and it can take time for an object to be readable in a bucket
B. Objects in Amazon S3 do not become visible until they are replicated to a second region.

C. US-STANDARD imposes a 1 second delay before new objects are readable.

D. You exceeded the bucket object limit, and once this limit is raised the object will be visible.

Answer: A

NEW QUESTION 266

Games-R-Us is launching a new game app for mobile devices. Users will log into the game using their existing Facebook account and the game will record player
data and scoring information directly to a DynamoDB table.

What is the most secure approach for signing requests to the DynamoDB API?

A. Create an IAM user with access credentials that are distributed with the mobile app to sign the requests
B. Distribute the AWS root account access credentials with the mobile app to sign the requests

C. Request temporary security credentials using web identity federation to sign the requests

D. Establish cross account access between the mobile app and the DynamoDB table to sign the requests

Answer: C

NEW QUESTION 271

After launching an instance that you intend to serve as a NAT (Network Address Translation) device in a public subnet you modify your route tables to have the
NAT device be the target of internet bound traffic of your private subnet. When you try and make an outbound connection to the Internet from an instance in the
private subnet, you are not successful.

Which of the following steps could resolve the issue?

A. Attaching a second Elastic Network interface (ENI) to the NAT instance, and placing it in the private subnet

B. Attaching a second Elastic Network Interface (ENI) to the instance in the private subnet, and placing it in the public subnet
C. Disabling the Source/Destination Check attribute on the NAT instance

D. Attaching an Elastic IP address to the instance in the private subnet

Answer: C

NEW QUESTION 274

What happens, by default, when one of the resources in a CloudFormation stack cannot be created?
A. Previously-created resources are kept but the stack creation terminates.

B. Previously-created resources are deleted and the stack creation terminates.

C. The stack creation continues, and the final results indicate which steps failed.

D. CloudFormation templates are parsed in advance so stack creation is guaranteed to succee
Answer: B

NEW QUESTION 279

Which of the following statements about SQS is true?

A. Messages will be delivered exactly once and messages will be delivered in First in, First out order
B. Messages will be delivered exactly once and message delivery order is indeterminate

C. Messages will be delivered one or more times and messages will be delivered in First in, First out order

D. Messages will be delivered one or more times and message delivery order is indeterminate

Answer: D
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NEW QUESTION 284
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